
 
FB21358 

 

22+Bronco/07-18 JK/18+JL/22+JT 
Tailgate Table 

 

 
2135800 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

REQUIRED TOOLS 
Drill (JK Only) 
4mm Hex Wrench 
M6 Nutcert Tool 
Tape Measure 
Marker 

 
Help of a Friend 

KIT CONTAINS 
Tailgate Table 
M6 Button Head Bolt 
M6 Washer 
M8 Spacer 
M6 Rivet Nut 
M8 Button Head Bolt 
M8 Washer 
Cutting Board 
 

QTY 
1 
4 
4 
4 
4 
1 
1 
1 

 



 
FB21358 

 

22+Bronco/07-18 JK/18+JL/22+JT 
Tailgate Table 

 

1 
2135800 

 
1) PREPARE 

Open your vehicle’s tailgate, and gently and evenly 
remove the plastic accessory panel, revealing the 
mounting locations, if applicable. 

 
 
With an M6 nutsert tool, install the 4 included 
nutserts in the shown holes. 

 
 

 
 

 
 
Note: JK owners will need to ensure the table is 
level with the shown edge before drilling. 

 
 

2) INSTALL 
With the help of a friend, hold the table up to the 
tailgate, and with a 4mm hex wrench, install the 
table with the included hardware.  For Bronco 
owners, you will need to use the included spacers 
to keep the table from scratching the tailgate. 

 
 


